

Note Consider $\lim_{x \rightarrow a} [f(x)]^{g(x)}$. Several indeterminate forms arise.

- 1) $\lim_{x \rightarrow a} f(x) = 0$ and $\lim_{x \rightarrow a} g(x) = 0 \mapsto 0^0$ type
- 2) $\lim_{x \rightarrow a} f(x) = \infty$ and $\lim_{x \rightarrow a} g(x) = 0 \mapsto \infty^0$ type
- 3) $\lim_{x \rightarrow a} f(x) = 1$ and $\lim_{x \rightarrow a} g(x) = \pm\infty \mapsto 1^\infty$ type

In these cases, we either i) let $y = [f(x)]^{g(x)}$, then $\ln(y) = g(x) \ln[f(x)]$
 ii) $[f(x)]^{g(x)} = e^{g(x) \ln[f(x)]}$

Both methods lead to indeterminate product $g(x) \ln[f(x)]$ of $0 \cdot \infty$ type.

Ex Calculate the limit.

a) $\lim_{x \rightarrow \infty} (1 + \frac{1}{x})^x$

Let $y = \lim_{x \rightarrow \infty} (1 + \frac{1}{x})^x$, s. b/c $\ln(x)$ continuous
 so $\ln(y) = \ln[\lim_{x \rightarrow \infty} (1 + \frac{1}{x})^x] = \lim_{x \rightarrow \infty} \ln[(1 + \frac{1}{x})^x] = \lim_{x \rightarrow \infty} x \ln(1 + \frac{1}{x})$ $\infty \cdot 0$
 $= \lim_{x \rightarrow \infty} \frac{\ln(1 + \frac{1}{x})}{\frac{1}{x}}$ $\stackrel{LH}{=} \lim_{x \rightarrow \infty} \frac{\frac{1}{1 + \frac{1}{x}} (-\frac{1}{x^2})}{-\frac{1}{x^2}} = \lim_{x \rightarrow \infty} \frac{1}{1 + \frac{1}{x}} = 1$
 $\frac{0}{0}$

Since $\ln(y) = 1$, $y = e$

$\Rightarrow \lim_{x \rightarrow \infty} (1 + \frac{1}{x})^x = e$

Math 2413
Dr Liu
17 Oct 2018
Pg 56

